VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

WATERCRAFT DOLLY
USER MANUAL

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only
represents an estimate of savings you might benefit from buying certain tools
with us compared to the major top brands and does not necessarily mean to cover
all categories of tools offered by us. You are kindly reminded to verify carefully
when you are placing an order with us if you are actually Saving
Half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR WATERCRAFT DOLLY

TOUGH TOOLS, HALF PRICE

MODEL: RYT-1000

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to contact us:
Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-


http://www.vevor.com/support

SAFE INSTRUCTIONS

AWARNING: Read and understand this manual before assembling,
installing, operating, or servicing this product. Failure to follow

these warnings and instructions can cause death, personal injury,

or damage to valuable property.

Assembly precautions

1. Assemble only according to these instructions. Improper assembly can
create hazards.

2. Weight capacity and other product capabilities apply to properly and
completely assembled products only.

Use precautions

TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:

. DO NOT SIT, STAND OR CLIMB ON THIS ITEM.

. This product is not a toy. Do not allow children to play with or near this item.
. Do not lift while loaded.

. Use as intended only.

. Inspect before every use; do not use if parts are loose or damaged.
. Do not pull a watercraft dolly with any motor vehicle.

. Do not transport people in this watercraft dolly.

. Do not exceed the load capacity. Otherwise, it could cause a
component failure or severe injury.

0O N Ok, WN -

SAVE THIS MANUAL

ACAUTION: Carefully read instructions and procedures for safe
operations.



PRODUCT INTRODUCTION

SPEC

Model RYT-1000
Maximum Load Capacity 1000 Ibs/454kg
Material Iron
Wheel diameter 4 inch
Product size 1135*848**515mm
Color White
PARTS LIST
NO. Qty Part Name
1 2 Bottom bar
2 2 Tie rods
3 2 Wheel connecting bar
4 2 4" Universal Wheel(With locking)
5 2 4" Universal Wheel
6 2 Large square tube
7 8 Triangular sheet metal fixings
8 4 Bending parts
9 8 M10*90 Bolts
10 8 M10*55 Bolts
11 20 M10 Washer
12 20 M10 Nut
13 4 M10*20 Bolts
14 8 M8*55 Bolts
15 8 M8*20 Bolts
16 16 M8 Washer
17 16 M8 Nut
18 2 Wrench




PRODUCT DIAGRAM




INSTALLATION INSTRUCTION

Step1 ~

Remove the bottom bar and
wheel attachment bar.

%

Step2 ~

Align the holes.

/

Step3 —

Insert one triangular sheet metal
fixing between the two bars and
the other triangular sheet metal
fixing on the outside, aligning
their holes.




INSTALLATION INSTRUCTION

Step4

\
Bolt them together.
M10*90
J
Step5
XQ 77 The other three sides
’ ’ operate similarly.
I/ \) )
Step6 —
Insert each end of the tie rod between the
two triangular sheet metal pieces.
\_l_lﬂ ‘( ﬁ-_l_l )




INSTALLATION INSTRUCTION

- Step7 ~
Bolt them together.

- J
- Step8 ~

The other three sides operate similarly.

/

- Step9 —
Install the wheels.




INSTALLATION INSTRUCTION

Step10 ~

Note that the same type of wheel should be installed on the same side.

J
Step11 ~
Installation of triangular sheet metal parts.
M10
J
Step12 —

The other three sides
operate similarly.




INSTALLATION INSTRUCTION

- Step13 ~
Installation of large square tubes.

J
- Step14 ~

Same operation on the other side.




Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australia

Imported to USA:Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH

UK | REP Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
EC [REP C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



VEVOR’

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support

CHARIOT POUR EMBARCATIONS MARINES

MANUEL D'UTILISATION

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par
nous ne représente qu'une estimation des économies que vous pourriez réaliser en achetant
certains outils chez nous par rapport aux grandes marques et ne couvre pas nécessairement toutes
les catégories d'outils que nous proposons. Nous vous rappelons de bien vouloir vérifier
soigneusement lorsque vous passez une commande chez nous si vous
économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

®
CHARIOT POUR EMBARCATIONS MARINES

TOUGH TOOLS, HALF PRICE

MODELE : RYT-1000

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ? N'hésitez pas a nous
contacter : Assistance technique et certificat de garantie

électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les
instructions du manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter
clairement notre manuel d'utilisation. L'apparence du produit dépend du produit

que vous avez recu. Veuillez nous excuser, nous ne vous informerons plus en cas de
mise a jour technologique ou logicielle de notre produit.

-1-


http://www.vevor.com/support

Machine Translated by Google

CONSIGNES DE SECURITE

AAVERTISSEMENT : Lisez et comprenez ce manuel avant I'assemblage,
I'installation, I'utilisation ou I'entretien de ce produit. Le non-respect de ces consignes
ces avertissements et instructions peuvent entrainer la mort, des blessures corporelles ou des

dommages a des biens de valeur.

Précautions de montage

1. Assemblez uniquement selon ces instructions. Un assemblage incorrect peut

créer des dangers.

2. La capacité de poids et les autres capacités du produit s'appliquent correctement et

produits entierement assemblés uniquement.

Précautions d'emploi

POUR EVITER LES BLESSURES GRAVES ET LA MORT RESULTANT DU BASCULEMENT :

N

. NE PAS S'ASSEOIR, SE TENIR DEBOUT OU MONTER SUR CET ARTICLE.

2. Ce produit n'est pas un jouet. Ne laissez pas les enfants jouer avec ou a proximité de cet article.

3. Ne pas soulever pendant la charge.

4. Utiliser uniquement comme prévu.

5. Inspectez avant chaque utilisation ; ne pas utiliser si des piéces sont desserrées ou endommagées.
6. Ne tirez pas le chariot d'une embarcation avec un véhicule a moteur.

7. Ne transportez pas de personnes sur ce chariot pour embarcation.

8. Ne dépassez pas la capacité de charge. Dans le cas contraire, cela pourrait provoquer une

défaillance d'un composant ou blessure grave.

CONSERVER CE MANUEL

AATTENTION : Lisez attentivement les instructions et les procédures pour une utilisation en toute sécurité.

opérations.



Machine Translated by Google

PRESENTATION DU PRODUIT

SPECIFICATION

Modeéle RYT-1000
Capacité de charge maximale 1000 Ib/454 kg
Matériel Fer
Diamétre de la roue 4 pouces
Taille du produit 1135*848**515mm
Couleur Blanc
LISTE DES PIECES

NON. Quantité Nom de la piéce
1 2 Barre inférieure
2 2 Ils produiront
3 2 Barre de connexion de roue
4 2 Roue universelle 4" (avec blocage)
5 2 Roue universelle 4"
6 2 Grand tube carré
7 8 Fixations triangulaires pour toles
8 4 Pieces pliées
9 8 Boulons M10*90
10 8 Boulons M10*55
11 20 Rondelle M10
12 20 Ecrou M10
13 4 Boulons M10*20
14 8 Boulons M8*55
15 8 Boulons M8*20
16 16 Rondelle M8
17 16 Ecrou M8
18 2 Clé




Machine Translated by Google

DIAGRAMME DU PRODUIT




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

Etape 1 ~
= Retirez la barre inférieure et la
barre de fixation de la roue.

_ J

- Etape 2 ~
Alignez les trous.

- J

Etape 3 —~

Insérez une fixation en téle triangulaire entre
les deux barres et I'autre fixation en tole

triangulaire a I'extérieur, en alignant leurs trous.




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

Etape 4

Insérez chaque extrémité de la tige de direction entre les

deux pieces de tble triangulaires.

" ™
Vissez-les ensemble.
M10*90
A, J
-~ Etape 5 B
X? 7»7 Les trois autres cotés
i i fonctionnent de maniére similaire.

\zz x& )

Etape 6 ~




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

7 Etape 7 X
Vissez-les ensemble.
A, J
E
s tape 8 ™~

Les trois autres parties fonctionnent de maniére similaire.

of

Etape 9

Installer les roues.

_\




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

- Etape 10 —~

Notez que le méme type de roue doit étre installé du méme cété.

J
7 Etape 11 ~
Pose de piéces de tdlerie triangulaires.
M10
M10*55
- J
Etape 12 —

Les trois autres parties

fonctionnent de maniere similaire.




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

7~ Etape 13 ~

Pose de tubes carrés de grandes dimensions.

- J

Vs Etape 14 —~
Méme opération de l'autre coté.

N /




Machine Translated by Google

Fabricant : Shanghaimuxinmuyeyouxiangongsi
Adresse : Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Importé en AUS : SIHAO PTY LTD, 1 ROKEVA STREET, ASTWOOD NSW
2122 Australie

Importé aux Etats-Unis : Sanven Technology Ltd., Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Francfort-sur-le-Main.

REPRESENTANT|DU ROYAUME-UNI

YH CONSULTING LIMITEE.

REPRESENTANY DE LA CE A/S YH Consulting Limited Bureau 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Wasserfahrzeug-Transportwagen

BENUTZERHANDBUCH

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsféhigen Preisen anzubieten.
~Sparen Sie die Halfte", ,Halber Preis“ oder andere ahnliche Ausdriicke, die wir verwenden,
stellen nur eine Schétzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns
im Vergleich zu den groRen Topmarken erzielen kdnnen, und decken nicht unbedingt alle von uns
angebotenen Werkzeugkategorien ab. Wir méchten Sie freundlich daran erinnern, bei der
Bestellung bei uns sorgféltig zu prifen, ob Sie im Vergleich zu den groRen
Topmarken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google

®
Wasserfahrzeug-Transportwagen

TOUGH TOOLS, HALF PRICE

MODELL: RYT-1000

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Benétigen Sie technischen Support? Bitte kontaktieren
Sie uns: Technischer Support und E-Garantie-
Zertifikat www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig durch,

bevor Sie das Gerat in Betrieb nehmen. VEVOR behélt sich eine klare Auslegung unserer
Bedienungsanleitung vor. Das Erscheinungsbild des Produkts richtet sich nach

dem Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut
informieren, wenn es Technologie- oder Software-Updates fiir unser Produkt gibt.

-1-


http://www.vevor.com/support

Machine Translated by Google

SICHERE ANWEISUNGEN

AWARNUNG: Lesen und verstehen Sie dieses Handbuch vor der Montage,

Installation, Betrieb oder Wartung dieses Produkts. Bei Nichtbeachtung
Diese Warnungen und Anweisungen kénnen zum Tod, zu Verletzungen oder zur Beschadigung

wertvollen Eigentums fiihren.

Vorsichtsmalinahmen bei der Montage

1. Die Montage muss gemaf dieser Anleitung erfolgen. Eine unsachgemafie Montage kann
Gefahren schaffen.

2. Gewichtskapazitat und andere Produkteigenschaften gelten fir richtig und

Nur komplett montierte Produkte.

VorsichtsmaRnahmen treffen

UM SCHWERE VERLETZUNGEN UND TOD DURCH KIPPEN ZU VERMEIDEN:

1. Setzen, stellen oder klettern Sie nicht auf diesen Gegenstand.

2. Dieses Produkt ist kein Spielzeug. Erlauben Sie Kindern nicht, mit diesem Produkt zu spielen oder sich in seiner Nahe aufzuhalten.
3. Nicht unter Last heben.

4. Nur bestimmungsgeman verwenden.

5. Vor jedem Gebrauch prifen; nicht verwenden, wenn Teile lose oder beschadigt sind.

6. Ziehen Sie den Wasserfahrzeugwagen nicht mit einem Kraftfahrzeug.

7. Transportieren Sie keine Personen mit diesem Wasserfahrzeug-Dolly.

8. Uberschreiten Sie nicht die Tragfahigkeit. Andernfalls kann es zu einem

Komponentenversagen oder schwere Verletzungen.

BEWAHREN SIE DIESES HANDBUCH AUF

AACHTUNG: Lesen Sie die Anweisungen und Verfahren sorgfaltig durch, um eine sichere

Operationen.



Machine Translated by Google

PRODUKTEINFUHRUNG

SPEZIFIKATION

Modell RYT-1000
Maximale Tragfahigkeit 1000 Pfund/454 kg
Material Eisen
Raddurchmesser 4 Zoll
ProduktgrofRe 1135*848**515 mm
Farbe Weil3
TEILELISTE
NEIN. Menge Teilename
1 2 Untere Leiste
2 2 Sie werden produzieren
3 2 Radanschlussstange
4 2 4-Zoll-Universalrad (mit Feststeller)
5 2 4" Universalrad
6 2 Grol3es Vierkantrohr
7 8 Dreieckige Blechbefestigungen
8 4 Biegeteile
9 8 M10*90 Schrauben
10 8 M10*55 Schrauben
11 20 M10 Unterlegscheibe
12 20 M10 Mutter
13 4 M10*20 Schrauben
14 8 M8*55 Bolzen
15 8 M8*20 Bolzen
16 16 M8 Unterlegscheibe
17 16 M8 Mutter
18 2 Schlussel




Machine Translated by Google

PRODUKTDIAGRAMM




Machine Translated by Google

INSTALLATIONSANLEITUNG

4 Schrittl  —
eo it e Entfernen Sie die untere Stange
i i und die Radbefestigungsstange.
- J
f Schritt2 ™
Richten Sie die Lécher aus.
- J
Schritt ™
3: Setzen Sie einen dreieckigen
Blechbefestiger zwischen die beiden
Stangen und den anderen dreieckigen
Blechbefestiger an der Aul3enseite ein
und richten Sie dabei ihre Lécher aus.
- /




Machine Translated by Google

INSTALLATIONSANLEITUNG
- Schritt4 -
Schrauben Sie sie zusammen.
M10*90
A, J
7 Schritt 5
X? 7,7 Die anderen drei Seiten
i i &hnlich funktionieren.
C ) )
Schritté ~
Fuhren Sie jedes Ende der Zugstange zwischen die
zwei dreieckige Blechstucke.
Le® & ™ e o |
N W /




Machine Translated by Google

INSTALLATIONSANLEITUNG
-~ Schritt7 —~=
Schrauben Sie sie zusammen.
A, J
7 Schritt8 ~

Die anderen drei Seiten operieren &hnlich.

of

Schritt9 —~

Montieren Sie die Rader.




Machine Translated by Google

INSTALLATIONSANLEITUNG

e Schritt 10 ~

Beachten Sie, dass der gleiche Radtyp auf der gleichen Seite montiert werden muss.

.3 J

Schritt 11 B

M10

M10*55 ——»

of

Schrittl2 ~
Die anderen drei Seiten

operieren &ahnlich.




Machine Translated by Google

INSTALLATIONSANLEITUNG
-~ Schrittl3 ~
Montage von groRen Vierkantrohren.
M10*20
N J
- Schrittl4 -

Gleiche Operation auf der anderen Seite.




Machine Translated by Google

Hersteller: Shanghaimuxinmuyeyouxiangongsi
Adresse: Shuangchenglu 803nong11haol1602A-1609shi, baoshanqu,
Shanghai 200000 CN.

Nach Australien importiert :SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australien

Importiert in die USA: Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH

UK REP
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
Vertretpr der EG C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

CARRELLO PER MOTO D'ACQUA
MANUALE D'USO

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.
"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi
utilizzata rappresenta solo una stima del risparmio che potresti ottenere acquistando
determinati utensili con noi rispetto ai principali marchi principali e non significa
necessariamente coprire tutte le categorie di utensili da noi offerti. Ti ricordiamo
gentilmente di verificare attentamente quando effettui un ordine con noi
se stai effettivamente risparmiando la meta rispetto ai principali marchi principali.


https://www.vevor.com/support

Machine Translated by Google

®
CARRELLO PER MOTO D'ACQUA

TOUGH TOOLS, HALF PRICE

MODELLO: RYT-1000

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitare a contattarci:
Supporto tecnico e certificato di garanzia

elettronica www.vevor.com/support

Questa e listruzione originale, si prega di leggere attentamente tutte le

istruzioni del manuale prima di utilizzare. VEVOR si riserva una chiara
interpretazione del nostro manuale utente. L'aspetto del prodotto sara

soggetto al prodotto ricevuto. Vi preghiamo di perdonarci se non vi informeremo di
nuovo se ci sono aggiornamenti tecnologici o software sul nostro prodotto.

-1-


http://www.vevor.com/support

Machine Translated by Google

ISTRUZIONI DI SICUREZZA

AATTENZIONE: leggere e comprendere questo manuale prima del montaggio,
l'installazione, il funzionamento o la manutenzione di questo prodotto. La mancata osservanza
queste avvertenze e istruzioni possono causare morte, lesioni personali o danni a beni di

valore.

Precauzioni di montaggio

1. Montare solo secondo queste istruzioni. Un montaggio improprio puo

creare pericoli.

2. La capacita di peso e le altre capacita del prodotto si applicano correttamente e

solo prodotti completamente assemblati.

Usare precauzioni

PER PREVENIRE LESIONI GRAVI E MORTALI DOVUTE AL RIBALTAMENTO:
1. NON SEDERSI, STARE IN PIEDI O SALIRE SU QUESTO OGGETTO.

2. Questo prodotto non & un giocattolo. Non permettere ai bambini di giocare con o vicino a questo articolo.

3. Non sollevare oggetti carichi.

Utilizzare solo come previsto.

Ispezionare prima di ogni utilizzo; non utilizzare se alcune parti sono allentate o danneggiate.

4.,
5.
6. Non trainare un carrello per imbarcazioni con un veicolo a motore.
7. Non trasportare persone su questo carrello per imbarcazioni.

8.

Non superare la capacita di carico. Altrimenti, potrebbe causare un

guasto del componente o lesioni gravi.

SALVA QUESTO MANUALE

AATTENZIONE: leggere attentamente le istruzioni e le procedure per un utilizzo sicuro

operazioni.



Machine Translated by Google

INTRODUZIONE AL PRODOTTO

SPECIFICHE

Modello RYT-1000
Capacita di carico massima 1000 libbre/454 kg
Materiale Ferro

Diametro della ruota 4 pollici

Dimensioni del prodotto 1135*848**515mm

Colore Bianco
NO. e Nome della parte

1 2 Barra inferiore
2 2 Produrranno
3 2 Barra di collegamento ruota
4 2 Ruota universale da 4" (con bloccaggio)
5 2 Ruota universale da 4"
6 2 Tubo quadrato grande
7 8 Fissaggi per lamiera triangolari
8 4 Parti piegate
9 8 Bulloni M10*90
10 8 Bulloni M10*55
11 20 Rondella M10
12 20 Dado M10
13 4 Bulloni M10*20
14 8 Bulloni M8*55
15 8 Bulloni M8*20
16 16 Rondella M8
17 16 Dado M8
18 2 Chiave




Machine Translated by Google

SCHEMA DEL PRODOTTO




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

Passo 1 ~

Rimuovere la barra inferiore e la
i barra di fissaggio della ruota.

_ J

a Passo 2 ™
Allineare i fori.

N J

Fase 3 ™

Inserire un tassello triangolare in lamiera
tra le due barre e l'altro tassello
triangolare in lamiera all'esterno,

allineandone i fori.




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

e Passo 4 ™
Uniscili con i bulloni.
M10*90
_ J
[ Passaggio 5 _\
KR : 77 Gli altri tre lati
i 1 funzionano in modo simile.
C W\ )
Passo 6 ™\
Inserire ciascuna estremita del tirante tra i
due pezzi di lamiera triangolari.
K m
L@ @ N\ W e e |
N J




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

7 Passo 7 ™
Uniscili con i bulloni.
_ J
e Passo 8 ™
Gli altri tre lati funzionano in modo simile.
J
Passo 9 ™

Installare le ruote.




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

Passaggio 10
e WO

Si noti che lo stesso tipo di ruota deve essere installato sullo stesso lato.

J

Gli altri tre lati funzionano

in modo simile.

f Passaggio 11 —\
Installazione di parti in lamiera triangolari.
M10
©
M10*55 ——»
N J
Passo 12 ~




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

g Passo 13 —\
Installazione di tubi quadrati di grandi dimensioni.
M10*20
N J
7 Passo 14 ™
Stessa operazione dall'altro lato.
- J




Machine Translated by Google

Produttore: Shanghaimuxinmuyeyouxiangongsi

Indirizzo: Shuangchenglu 803nongl1haol602A-1609shi, baoshanqu,
shanghai 200000 CN.

Importato in AUS:SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australia

Importato negli USA: Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH

Mainzer Landstr.69, 60329 Francoforte sul Meno.

NNNNNNNNNNNNNNNNNNNN

CONSULENZA YH LIMITATA.

Rappresentafte della £ C/O YH Consulting Limited Ufficio 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support

CARRETILLA PARA EMBARCACIONES

MANUAL DEL USUARIO

Seguimos comprometidos a brindarle herramientas a precios competitivos.
"Ahorre la mitad", "mitad de precio" o cualquier otra expresién similar que utilicemos
solo representa una estimacién del ahorro que podria obtener al comprar ciertas
herramientas con nosotros en comparacion con las principales marcas y no necesariamente
significa que cubra todas las categorias de herramientas que ofrecemos. Le recordamos
que, al realizar un pedido con nosotros, verifique cuidadosamente si
realmente esta ahorrando la mitad en comparacién con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

®
CARRETILLA PARA EMBARCACIONES

TOUGH TOOLS, HALF PRICE

MODELO: RYT-1000

¢NECESITA AYUDA? CONTACTENOS!

¢ Tiene preguntas sobre el producto? ; Necesita asistencia técnica? No dude en ponerse en contacto
con nosotros: Asistencia técnica y certificado de garantia

electrénica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las

instrucciones del manual antes de utilizar el producto. VEVOR se reserva una
interpretacion clara de nuestro manual de usuario. La apariencia del

producto estara sujeta al producto que recibié. Perdonenos por no informarle
nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.

-1-


http://www.vevor.com/support

Machine Translated by Google

INSTRUCCIONES DE SEGURIDAD

AADVERTENCIA: Lea y comprenda este manual antes de ensamblar,

instalar, operar o realizar el mantenimiento de este producto. El incumplimiento de las instrucciones
Estas advertencias e instrucciones pueden causar la muerte, lesiones personales o dafios a

propiedades valiosas.

Precauciones de montaje

1. Realice el montaje Unicamente de acuerdo con estas instrucciones. Un montaje incorrecto puede
crear peligros

2. La capacidad de peso y otras capacidades del producto se aplican de manera adecuada y

Solo productos completamente ensamblados.

Tome precauciones

PARA EVITAR LESIONES GRAVES Y LA MUERTE POR VUELCO:

1. NO SE SIENTA, SE PARE NI SE SUBA SOBRE ESTE ARTICULO.

2. Este producto no es un juguete. No permita que los nifios jueguen con este articulo ni cerca de él.
3. No levante mientras esté cargado.

4. Utilicelo unicamente segun lo previsto.

5. Inspeccione antes de cada uso; no utilice si las piezas estan sueltas o dafiadas.

6. No tire de un carro para embarcaciones con ningun vehiculo motorizado.

7. No transporte personas en este vehiculo para embarcaciones.

8. No exceda la capacidad de carga. De lo contrario, podria causar un

Fallo del componente o lesiones graves.

GUARDE ESTE MANUAL

APRECAUCION: Lea atentamente las instrucciones y los procedimientos para un uso seguro.

operaciones.



Machine Translated by Google

INTRODUCCION DEL PRODUCTO

ESPECULACION

Modelo RYT-1000
Capacidad de carga maxima 1000 libras/454 kg
Material Hierro

Diametro de la rueda 4 pulgadas

Tamafio del producto 1135*848**515 mm

Color Blanco
LISTA DE PIEZAS
NO. P Nombre de la pieza

1 2 Barra inferior
2 2 ellos produciran
3 2 Barra de conexién de rueda
4 2 Rueda universal de 4" (con bloqueo)
5 2 Rueda universal de 4"
6 2 Tubo cuadrado grande
7 8 Fijaciones triangulares para chapa metalica
8 4 Piezas de flexion
9 8 Pernos M10*90
10 8 Pernos M10*55
11 20 Arandela M10
12 20 Tuerca M10
13 4 Pernos M10*20
14 8 Pernos M8*55
15 8 Pernos M8*20
16 16 Arandela M8
17 16 Tuerca M8
18 2 Llave inglesa




Machine Translated by Google

DIAGRAMA DEL PRODUCTO




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

P 1
aso —\

s 1=t Tz sl s Retire la barra inferior y la barra
NN, AN -
i de fijacion de la rueda.

Cl 13 ol | £ 2
- J
7 Paso 2 B

Alinee los agujeros.
- J
Paso 3 ~

Inserte una fijaciéon de chapa triangular
entre las dos barras y la otra fijacion de

chapa triangular en el exterior, alineando

sus orificios.




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

= Paso 4

Atornillelos juntos.

M10*90

7 Paso 5

XR 77 Los otros tres lados

funcionan de manera similar.

Paso 6
Inserte cada extremo de la barra de acoplamiento entre el

Dos piezas triangulares de chapa metalica.




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

g Paso 7 ™

Atornillelos juntos.

.3 J

f Paso 8 ™

Los otros tres lados operan de manera similar.

of

Paso9 ™

Instalar las ruedas.




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

b Paso 10 ~

Tenga en cuenta que el mismo tipo de rueda debe instalarse en el mismo lado.

Los otros tres lados

operan de manera similar.

J
-~ Paso 11 By
Instalaciéon de piezas de chapa triangular.
M10
M10%55
k J
Paso 12 —~




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

g Paso 13 ™

Instalacion de tubos cuadrados de grandes dimensiones.

M10*20

J

' Paso 14 ™

La misma operacion en el otro lado.




Machine Translated by Google

Fabricante: Shanghaimuxinmuyeyouxiangongsi
Direccion: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Importado a Australia: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australia

Importado a EE. UU.: Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Francfort del Meno.

REPRESENTANT DEL REINO UNIDO

YH CONSULTING LIMITADA.

REPRESENTANTE CE C/O YH Consulting Limited Oficina 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

WOZEK DO SKUTEROW WODNYCH
INSTRUKCJA OBSEUGI

Nadal staramy sie oferowa¢ Panstwu narzedzia w konkurencyjnych cenach.
,0Oszczedzaj potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez
nas stanowig jedynie szacunkowe oszczednosci, jakie mozesz uzyskac, kupujac u nas
okreslone narzedzia w poréwnaniu z gtéwnymi markami i niekoniecznie oznaczajg one
objecie wszystkich kategorii oferowanych przez nas narzedzi. Uprzejmie przypominamy,
aby przy sktadaniu zaméwienia doktadnie sprawdzi¢, czy faktycznie
oszczedzasz potowe w poréwnaniu z gtéwnymi markami.


https://www.vevor.com/support

Machine Translated by Google

®
WOZEK DO SKUTEROW WODNYCH

TOUGH TOOLS, HALF PRICE

MODEL: RYT-1000

POTRZEBUJESZ POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie
z nami: Wsparcie techniczne i certyfikat E-Gwarancji

WWWw.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczytac

wszystkie instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukgji
obstugi. Wyglad produktu bedzie zalezat od produktu, ktéry otrzymates.

Prosimy o wybaczenie, ze nie poinformujemy Cie ponownie, jesli w naszym
produkcie pojawig sie jakiekolwiek aktualizacje technologiczne lub oprogramowania.

-1 -


http://www.vevor.com/support

Machine Translated by Google

INSTRUKCJE BEZPIECZENSTWA

AOSTRZEZENIE: Przed montazem nalezy przeczytac i zrozumie¢ niniejszg instrukcje,
instalowanie, obstuga lub serwisowanie tego produktu. Nieprzestrzeganie

ostrzezenia i instrukcje moga spowodowac $mier¢, obrazenia ciata lub uszkodzenie cennego mienia.

Srodki ostroznosci podczas montazu

1. Montaz nalezy wykonywac¢ wytgcznie zgodnie z niniejszg instrukcja. Nieprawidtowy montaz moze
stwarzac zagrozenia.

2. Nos$nos¢ i inne mozliwosci produktu majg zastosowanie w przypadku prawidtowego i

Tylko produkty catkowicie zmontowane.

Stosuj Srodki ostroznosci

ABY ZAPOBIEC POWAZNYM OBRAZENIOM I SMIERCI SPOWODOWANE) PRZEWROCENIEM:

1. NIE SIADAJ, NIE STOJ ANI NIE WSPINAJ SIE NA TYM PRZEDMIOCIE.

2. Ten produkt nie jest zabawka. Nie pozwalaj dzieciom bawi¢ sie tym przedmiotem ani przebywa¢ w jego poblizu.
3. Nie podno$, gdy jestes obcigzony.

4. Uzywac wytacznie zgodnie z przeznaczeniem.

5. Przed kazdym uzyciem nalezy przeprowadzi¢ kontrole. Nie nalezy uzywa¢ produktu, jeslijakies czesci sa luzne lub uszkodzone.

6. Nie ciggnij wozka do skutera wodnego zadnym pojazdem mechanicznym.

7. Nie przewozi¢ ludzi w wézku do skutera wodnego.

8. Nie przekraczaj dopuszczalnego obcigzenia. W przeciwnym razie moze to spowodowac

awaria podzespotu lub powazne obrazenia.

ZAPISZ TE INSTRUKCJE

AUWAGA: Przeczytaj uwaznie instrukcje i procedury, aby zachowa¢ bezpieczeristwo.

operacje.



Machine Translated by Google

WPROWADZENIE DO PRODUKTU

SPECYFIKACJA

Model RYT-1000
Maksymalna tadownos¢ 1000 funtéw/454 kg
Tworzywo Zelazo
Srednica kota 4 cale
Rozmiar produktu 1135*848**515 mm
Kolor Biaty
LISTA CZESCI
NIE. Tloé¢ Nazwa czesci

1 2 Dolny pasek

2 2 Wyprodukuja

3 2 Pret taczacy kota

4 2 Koto uniwersalne 4" (z blokada)
5 2 Koto uniwersalne 4"

6 2 Duza kwadratowa rura
7 8 Tréjkatne elementy mocujace blache
8 4 Giecie czesci

9 8 Sruby M10*90
10 8 Sruby M10%*55
(N 20 Podktadka M10
12 20 Nakretka M10
13 4 Sruby M10%20
14 8 Sruby M8*55
15 8 Sruby M8+*20
16 16 Podktadka M8
17 16 Nakretka M8
18 2 Klucz




Machine Translated by Google

DIAGRAM PRODUKTU




Machine Translated by Google

INSTRUKCJA INSTALAC]I
- - Krok 1 ~
E j ! E j Zdejmij dolng belke i belke
° mocujgcg koto.
HENEN C [
- J
-~ Krok 2 B
Wyréwnaj otwory.
N J
Krok 3 ™~

W67 jeden tréjkatny element mocujacy
blache miedzy dwa prety, a drugi
trojkatny element mocujacy blache na

zewnatrz, wyréwnujac ich otwory.




Machine Translated by Google

INSTRUKCJA INSTALAC]I

7 Krok4 —
Skre¢ je razem.

M10*90

J

7 Krok5 —
: 77 Pozostate trzy strony

dziatajg podobnie.

! )

Krok 6 ™\
W16z kazdy koniec drazka taczacego pomiedzy

dwa tréjkatne kawatki blachy.

-
N =V

@
@
[EE——|
1
(o))
©
O]




Machine Translated by Google

INSTRUKCJA INSTALACJI
- Krok 7 —~
Skrec je razem.
- J
7 Krok 8 =

Pozostate trzy strony dziatajg w podobny sposéb.

Krok 9 ~

Zamontuj kota.




Machine Translated by Google

INSTRUKCJA INSTALAC]I

- Krok 10 —~

Nalezy pamieta¢, aby po tej samej stronie zamontowac ten sam typ kofa.

J
- Krok 11 =
Montaz tréjkatnych elementéw blacharskich.
M10
- J
Krok 12 —~

Pozostate trzy strony

dziatajg w podobny sposéb.




Machine Translated by Google

INSTRUKCJA INSTALAC]I

7 Krok 13 ~

Montaz duzych rur kwadratowych.

M10%20

S J

- Krok 14—
Taka sama operacja po drugiej stronie.

- /




Machine Translated by Google

Producent: Shanghaimuxinmuyeyouxiangongsi
Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, szanghaj
200000 CN.

Importowane do AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australia

Importowane do USA: Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt nad Menem.

REP WIELKJE] BRYTANII

YH CONSULTING LIMITED.

Praedstafclel LE C/0 YH Consulting Limited Biuro 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
Www.vevor.com/support

WATERSCOOTERS DOLLY

GEBRUIKERSHANDLEIDING

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Save Half", "Half Price" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen
een schatting weer van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons
te kopen in vergelijking met de grote topmerken en betekent niet noodzakelijkerwijs dat alle categorieén
gereedschappen die wij aanbieden, worden gedekt. Wij herinneren u eraan om zorgvuldig te
controleren of u daadwerkelijk de helft bespaart in vergelijking met de grote
topmerken wanneer u een bestelling bij ons plaatst.


https://www.vevor.com/support

Machine Translated by Google

®
WATERSCOOTERS DOLLY

TOUGH TOOLS, HALF PRICE

MODEL: RYT-1000

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust contact
met ons op: Technische ondersteuning en E-

garantiecertificaat www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door

voordat u het product gebruikt. VEVOR behoudt zich een duidelijke interpretatie

van onze gebruikershandleiding voor. Het uiterlijk van het product is

afhankelijk van het product dat u hebt ontvangen. Vergeef ons dat we u niet

opnieuw zullen informeren als er technologie- of software-updates voor ons product zijn.

-1-


http://www.vevor.com/support

Machine Translated by Google

VEILIGE INSTRUCTIES

AWAARSCHUWING: Lees en begrijp deze handleiding voordat u met de montage begint,
het installeren, bedienen of onderhouden van dit product. Het niet naleven
Deze waarschuwingen en instructies kunnen de dood, persoonlijk letsel of schade aan

waardevolle eigendommen tot gevolg hebben.

Voorzorgsmaatregelen bij de montage

1. Monteer alleen volgens deze instructies. Onjuiste montage kan

gevaren creéren.

2. Het draagvermogen en andere producteigenschappen zijn van toepassing op de juiste en

Enkel volledig geassembleerde producten.

Neem voorzorgsmaatregelen

OM ERNSTIG LETSEL EN DE DOOD DOOR KANTELEN TE VOORKOMEN:

1. NIET OP DIT ITEM ZITTEN, STAAN OF KLIMMEN.

2. Dit product is geen speelgoed. Laat kinderen niet met of in de buurt van dit item spelen.

3. Til niet terwijl het geladen is.

4. Gebruik het product alleen zoals bedoeld.

5. Controleer het apparaat voor elk gebruik. Gebruik het apparaat niet als er onderdelen loszitten of beschadigd zijn.
6. Trek geen dolly voor een vaartuig met een motorvoertuig.

7. Vervoer geen personen op deze waterscooter.

8. Overschrijd de laadcapaciteit niet. Anders kan dit een

defecte onderdelen of ernstig letsel.

BEWAAR DEZE HANDLEIDING

ALET OP: Lees de instructies en procedures zorgvuldig door voor een veilige werking.

operaties.



Machine Translated by Google

PRODUCTINTRODUCTIE

SPEC

Model RYT-1000
Maximale laadcapaciteit 1000 pond/454 kg
Materiaal lizer
Wieldiameter 4 inch
Productgrootte 1135*848**515mm
Kleur Wit
NEE. i Onderdeelnaam

1 2 Onderste balk

2 2 Zij zullen produceren

3 2 Wielverbindingsstang

4 2 4" universeel wiel (met vergrendeling)

5 2 4" Universeel wiel

6 2 Grote vierkante buis

7 8 Driehoekige plaatmetalen bevestigingen

8 4 Buigdelen

9 8 M10*90 bouten

10 8 M10*55 bouten

11 20 M10-ring

12 20 M10 moer

13 4 M10*20 bouten

14 8 M8*55 bouten

15 8 M8+*20 bouten

16 16 M8 ring

17 16 M8 moer

18 2 Moersleutel




Machine Translated by Google

PRODUCTDIAGRAM




Machine Translated by Google

INSTALLATIE-INSTRUCTIES

7 B Stap 1 ~
R B Verwijder de onderste balk en de
17 [ F . wielbevestigingsbalk.
Cl 13 ol ) B 2
- J
7 Stap 2 ™
Lijn de gaten uit.
N J
Stap 3 ™~
Plaats één driehoekige metalen
plaatbevestiging tussen de twee staven
en de andere driehoekige metalen
plaatbevestiging aan de buitenkant,
waarbij de gaten op één lijn liggen.
-




Machine Translated by Google

INSTALLATIE-INSTRUCTIES

Stap 4

- R
Schroef ze aan elkaar.
M10*90
e J
Stap 5
4 XR /fz De andere drie kanten N
i i werken op een vergelijkbare manier.
\zz x& )
Stap 6 —~
Steek elk uiteinde van de trekstang tussen de
twee driehoekige stukken plaatmetaal.
-6-_ —6-6-
N W J




Machine Translated by Google

INSTALLATIE-INSTRUCTIES

= Stap 7 ~
Schroef ze aan elkaar.

e J

7 Stap 8 B

De andere drie partijen opereren op een vergelijkbare manier.

of

Stap 9 ~
Monteer de wielen.




Machine Translated by Google

INSTALLATIE-INSTRUCTIES

= Stap 10 ~
Houd er rekening mee dat hetzelfde type wiel aan dezelfde kant moet worden gemonteerd.

J
Stap 11 ~
M10*55
- J
Stap 12 ~

De andere drie partijen opereren

op een vergelijkbare manier.




Machine Translated by Google

INSTALLATIE-INSTRUCTIES

= Stap 13 ~
Installatie van grote vierkante buizen.
M10*20
- J
7 Stap 14 By
Hetzelfde gebeurt aan de andere kant.
- J




Machine Translated by Google

Fabrikant: Shanghaimuxinmuyeyouxiangongsi
Adres: Shuangchenglu 803nong11haol1602A-1609shi, baoshanqu, shanghai
200000 CN.

Geimporteerd naar AUS:SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australié

Geimporteerd naar de VS: Sanven Technology Ltd., Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

E-CrossStu GmbH

VK REP Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.

EC-REP C/O YH Consulting Limited Kantoor 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


http://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

VATTENFARTSDOLLY
ANVANDARMANUAL

Vi fortsatter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara halften”, "halva priset" eller andra liknande uttryck som anvands av 0ss
representerar bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa
verktyg hos oss jamfort med de stora toppmérkena och betyder inte nédvandigtvis att tacka
alla kategorier av verktyg som erbjuds av oss. Du paminns om att noggrant kontrollera
nér du gor en bestallning hos oss om du verkligen sparar halften i
jamforelse med de framsta varumarkena.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR VATTENFARTSDOLLY

TOUGH TOOLS, HALF PRICE

MODELL: RYT-1000

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna: Teknisk
support och e-garanticertifikat www.vevor.com/
support

Detta ar den ursprungliga instruktionen, Ias alla instruktioner noggrant
innan du anvander den. VEVOR reserverar sig for en tydlig tolkning av var
anvandarmanual. Utseendet pa produkten ar beroende av den produkt

du fatt. Ursékta oss att vi inte kommer att informera dig igen om det finns
nagon teknik eller mjukvaruuppdateringar pa var produkt.

-1-


http://www.vevor.com/support

Machine Translated by Google

SAKERHETSINSTRUKTIONER

AVARNING: Las och forsta denna bruksanvisning innan montering,
installera, anvanda eller serva denna produkt. Underlatenhet att folja
dessa varningar och instruktioner kan orsaka dodsfall, personskada eller skada pa

vardefull egendom.

Forsiktighetsatgarder vid montering

1. Montera endast enligt dessa instruktioner. Felaktig montering kan
skapa faror.

2. Viktkapacitet och andra produktegenskaper galler for korrekt och

endast fardigmonterade produkter.

Anvéand forsiktighetsétgarder

FOR ATT FORHINDRA ALLVARLIGA SKADA OCH DODSFALL VID VALLNING:
1. SIT, STA ELLER KLATTRA INTE PA DETTA FOREMAL.

2. Denna produkt ar inte en leksak. Lat inte barn leka med eller nara detta foremal.
3. Lyft inte nar den ar lastad.

Anvand endast pd avsett sétt.

Inspektera fore varje anvandning; Anvand inte om delar ar I6sa eller skadade.

4.

5.

6. Dra inte en vattenskoterdocka med nagot motorfordon.
7. Transportera inte méanniskor i denna vattenskoterdocka.
8.

Overskrid inte lastkapaciteten. Annars kan det orsaka a

komponentfel eller allvarlig skada.

SPARA DENNA MANUAL

AFORSIKTIGT: L&s noggrant instruktionerna och procedurerna for séker

operationer.



Machine Translated by Google

PRODUKTINTRODUKTION

SPEC

Modell

RYT-1000

Maximal lastkapacitet

1000 Ibs/454 kg

Material Jarn
Hjuldiameter 4 tum
Produktstorlek 1135*848**515mm
Farg Vit

DELLISTA

INGA. Antal Delens namn
1 2 Nedre faltet
2 2 De kammer at producera
3 2 Hjulkopplingssténg
4 2 4" universalhjul (med lasning)
5 2 4" universalhjul
6 2 Stort fyrkantigt ror
7 8 Triangulara platfasten
8 4 Bojande delar
9 8 M10*90 Bultar
10 8 M10*55 Bultar
11 20 M10 Bricka
12 20 M10 Mutter
13 4 M10*20 Bultar
14 8 M8*55 Bultar
15 8 M8*20 Bultar
16 16 M8 bricka
17 16 M8 Mutter
18 2 Rycka




Machine Translated by Google

PRODUKTDIAGRAM




Machine Translated by Google

INSTALLATIONSANVISNING

( Steg 1 ™
E ﬂ °le ) E j Ta bort bottenstdngen och hjulfastet.
- J
4 Steg 2 ™
Rikta in halen.
- J
Steg 3 ™
Sétt in en triangular platfaste mellan de
tva stangerna och den andra triangulara
platfastet pa utsidan, passa deras hal.
- /




Machine Translated by Google

INSTALLATIONSANVISNING

7~ Steg 4 X
Skruva ihop dem.

M10*90

J

Steg 5
7 \
D 77 De andra tre sidorna

fungera pa liknande sétt.

! )

Steg 6 ™

Satt in varje ande av dragstangen mellan

tva triangulara platbitar.

/)
)

@

@

[EE——|

—
(e}

©

O]




Machine Translated by Google

INSTALLATIONSANVISNING

Montera hjulen.

7 Steg 7 ~
Skruva ihop dem.
- J
-~ Steg 8 ~
De andra tre sidorna fungerar pa liknande sétt.
J
Steg 9 ™




Machine Translated by Google

INSTALLATIONSANVISNING

7 Steg 10 =%

Observera att samma typ av hjul ska installeras pd samma sida.

J
Montering av triangulara platdelar.
M10
- J
Steg 12 ™~

De andra tre sidorna

fungerar pa liknande sétt.




Machine Translated by Google

INSTALLATIONSANVISNING

-~ Steg 13 ~
Installation av stora fyrkantsror.

M10*20

_ v

7 Steg 14 By
Samma operation p& andra sidan.

- J




Machine Translated by Google

Tillverkare: Shanghaimuxinmuyeyouxiangongsi

Adress: Shuangchenglu 803nongl1haol1602A-1609shi, baoshanqu, shanghai
200000 CN.

Importerad till AUS:SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW
2122 Australien

Importerad till USA: Sanven Technology Ltd., Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

UK REP

YH CONSULTING LIMITED.

EC REP C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-10 -



Machine Translated by Google

VEVOR’

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


http://www.vevor.com/support

